
SAP ABAP table VEWA_ORDER_OBJECT {Change Document Structure; Generated by RSSCD000}

VEWA_ORDER_OBJECT

MANDT [CLNT (3)]

ORDERNR [CHAR (20)]

BEH_TYPE [CHAR (18)]

SERVFREQNR [CHAR (10)]

SDAUFNR [CHAR (10)]

SMAUFNR [CHAR (12)]

SERVLOC [CHAR (30)]

EPROP [CHAR (12)]

KUNNR [CHAR (10)]

BULK_WEIGHT_UNIT [UNIT (3)]

BULK_VOL_UNIT [UNIT (3)]

WEIGHT_UNIT [UNIT (3)]

VOL_UNIT [UNIT (3)]

CONFTYPE1 [CHAR (8)]

CONFTYPE2 [CHAR (8)]

CONFTYPE3 [CHAR (8)]

LGORT [CHAR (4)]

ZEITUNIT [UNIT (3)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 VEWA_ORDER_OBJECT-SMAUFNR = AUFK-AUFNR 

0..N

0..N

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 VEWA_ORDER_OBJECT-KUNNR = BUT000-PARTNER 

0..N

0..N

EEWA_PROP_H

MANDT [CLNT (3)]

PROP [CHAR (12)]

 VEWA_ORDER_OBJECT-EPROP = EEWA_PROP_H-MANDT 

0..N

0..N

EWAOBJ

MANDT [CLNT (3)]

OBJNR [CHAR (10)]

 VEWA_ORDER_OBJECT-SERVFREQNR = EWAOBJ-OBJNR 

0..N

0..N

EWA_ORDER_HEAD

MANDT [CLNT (3)]

ORDERNR [CHAR (20)]

 VEWA_ORDER_OBJECT-ORDERNR = EWA_ORDER_HEAD-ORDERNR 

0..N

1

IFLOT

MANDT [CLNT (3)]

TPLNR [CHAR (30)]

 VEWA_ORDER_OBJECT-SERVLOC = IFLOT-TPLNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 VEWA_ORDER_OBJECT-BEH_TYPE = MARA-MATNR 
0..N

0..N T000

MANDT [CLNT (3)]

 VEWA_ORDER_OBJECT-MANDT = T000-MANDT 

0..N
1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 VEWA_ORDER_OBJECT-LGORT = T001L-LGORT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 VEWA_ORDER_OBJECT-BULK_VOL_UNIT = T006-MSEHI 

0..N

0..N

 VEWA_ORDER_OBJECT-BULK_WEIGHT_UNIT = T006-MSEHI 

0..N

0..N

 VEWA_ORDER_OBJECT-VOL_UNIT = T006-MSEHI 

0..N

1

 VEWA_ORDER_OBJECT-WEIGHT_UNIT = T006-MSEHI 

0..N

0..N

 VEWA_ORDER_OBJECT-ZEITUNIT = T006-MSEHI 0..N
0..N

TEWACONFTYPE

MANDT [CLNT (3)]

CONFTYPE [CHAR (8)]

 VEWA_ORDER_OBJECT-CONFTYPE1 = TEWACONFTYPE-CONFTYPE 

0..N

0..N

 VEWA_ORDER_OBJECT-CONFTYPE2 = TEWACONFTYPE-CONFTYPE 
0..N

0..N

 VEWA_ORDER_OBJECT-CONFTYPE3 = TEWACONFTYPE-CONFTYPE 0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 VEWA_ORDER_OBJECT-SDAUFNR = VBUK-VBELN 

0..N

0..N


